H & 0l & AHS B Ml A

SA - ZE . BR() - HRAR - BES A 2
A=t 3,654,693 3,303,145 361,548
s THAR2 5,382 4,590 792
PSP P 5,382 4,590 792
SEXtE 2 5,382 4,590 792
201 fer= 3| 5,382 4,590 792
02 S3=gHl 5,382 4,590 792
Oxtzedidfg=s 60,0002 *1CH 60
OXIS ZHAl 30,0002 1CH 30
OxtgA=H| 1,6302+50 £ 43|+ 123 3,912
OXteg==clbl 100,000& »1CH+62] 600
Ooxg=Eg=s 780,000 1CH 780
oe = 38 347,034 316,555 30,479
OlSssAEsS 282 75,306 74,827 479
DiEeaxAEs 22 75,306 74,827 479
201 Let=23 | 49,085 49,580 A495
01 At2teltl 45,956 46,736 AT780
Olte8AlE =2HA 45,836
—d MES A (E 13])
364,200 *5004 A 18,210
—F4 1382 24 (2D)
56,5002 507K 2-*32] 8,475
~HB4 AL 622 BAL (801
60, 7003 *26JH 2= #22] 3,157
—H=a B 58S HA
247, 700 *26 01 A 6.441
—XIBH B4 1ES 2N
75,8003 #3504 A 2,653
— XI5t 2= &5 FAE (B1)
50,0003 #3570 A #22] 3,500
— Xt Rets 82 A (2I1)
10,6003 #3572 %42] 1,484
—oi=2 DSAIE 632 2M(S)
30,2002 *30H A+ 112 997
—ol=2 BSAE 482 2AHE 13)
306, 1002 *30H A 919
ozcda 5002 x20&E i« 123 120
02 35244l 3,129 2,844 285
OHEs EsAE &JIRs
38,5002 *3M 2+ 12 1,386
OATl =EAIE 2oL SHRS
6,600 «220 A+ 122 1,743
202 04| 8,438 9,080 N642
01 2L AL 3,638 4,280 AB42
O=ZZA 22 30,0002 +62] 180




SN MRS
= g2 2 =22
ool DIZE+AAS 29 (el =)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
Ox=&ZA XE2A £ 238 &34
40,0003 »1Z+23] 80
Oltss==Ald 83
22,5203 152« 102 3,378
02 A0 4,800 4,800 0
OlissAlE 88 € 228+ 4,800
—SAZE 220,000& x1H 12 2,640
—S24 180,000&x 1+ 12& 2,160
206 =4I 17,783 16,167 1,616
01 =4l 17,783 16,167 1,616
ORY +52E BE 7¢
2,200,000 x4k 8,800
O3 RAEx MMM 2
88,000&x105 880
o238 RX&el 425 F 990
—23 MojEa 223
55,0002 *45JH 22 %20% 495
—T2UYR 1K ADE
55,0003 #45JH 2 +20% 495
Ool=s BEAE NN 45| BH L B
Sl 1,100,000 37 2 3,300
Oax=9E 7Y 2,904
— UM (20kg2) 9,680&+300= 2,904
Otl&tHEl HIZE A=2E FY
5,022 181kg 909
OISS=AES HE 2el 271,728 241,728 30,000
OlE2==AlE W 271,728 241,728 30,000
401 AlEHIZ S 0HYI 271,728 241,728 30,000
01 AlZH| 270,000 240,000 30,000
Ots A4 )Xl - 22
200,000,000& 200,000
Olts S#AIE il H2
70,000,000 70,000
03 Al£ = THHI 1,728 1,728 0
OAI4 20HbI 240,000,000 *0.72% 1,728
Hees(as=En) 3,291,207 2,982,000 309,207
LHRAHHXIZ 3,291,207 2,982,000 309,207
LHRHH K= 3,291,207 2,982,000 309,207
701 JIEt2l HISEES 3,291,207 2,982,000 309,207
2 BINIESEIHBNTES 560,000 0 560,000
OAE =dl 28 == 2H0 OHE et
S BE= 560,000,000& 560,000
03 BIILELEIIAHN=2EHES 2,731,207 2,982,000 A250,793
Oa==EBIILELESN H2HES(HEE
x) 2,371,207,000& 2,371,207




S AAEDL
Hu: HRES(ASD)

&2l WRHHXS (CH9: &S1)
2 - IE
SN - BB SR(BIH) - NISAY - BES O] ot e RS2
OHRXISE =& AT AH L3N RfE=Z
360,000,000 360,000

gtz (J1Et) 11,070 0 11,070
gret= (J1E}) 11,070 0 11,070
BHEI 2D |EH A =S 1t) 11,070 0 11,070
802 BretaJ|Et 11,070 0 11,070
01 2NEXxZLHEZ2 11,070 0 11,070

OXSXF A2 =T AIE HEAS 2 1

11,070,000 11,070




